Assignment 4 

p. 213-214， 6,7
6. 对气相反应 A(g) ↔ B(g), 设反应体系为理想混合物，反应前体系含N个A分子，平衡时A、B分子数分别为
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和 
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。反应体系总体积为V。a) 给出体系的正则配分函数；b) 给出平衡体系的总熵和混合熵表达式; c) 给出体系的巨正则配分函数；d) 证明：
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， 为何会出现负值？
6. For the gas phase reaction A(g) ↔ B(g), assume that the reaction system is an ideal mixture. Before the reaction, the system contains N molecules of A. At equilibrium, the number of molecules of A and B are 
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, respectively. The total volume of the reaction system is V. a) Derive the canonical partition function of the system; b) Derive the expressions for the total entropy and mixing entropy of the equilibrium system; c) Derive the grand canonical partition function of the system; d) Prove 
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 and justify why it appears as a negative value?
7. 对反应H2 + I2 ↔ 2HI, 已知H2、I2、HI光谱数据见下表， 计算该反应在273.2和1000K 下的Kp值。 For the reaction H2 + I2 ↔ 2HI with the spectral data of H2, I2, and HI given below, calculate the Kp value of the reaction at 273.2 and 1000K, respectively.
	
	I x1047 /kg(m2
	(  x1012 /Sec-1
	D  /kJ(mol-1

	HI
	4.284
	69.24
	294.97

	H2
	0.4544
	132.4
	431,96

	I2
	741.6
	6.424
	148.74
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